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Question 1 (1.5 points each). Mark each of the following by True or False
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(4-TF:) If Ais a4 x 3 matrix with rank(A) = 3, then the homogeneous system Az = 0 has
nontrivial solution. o <i”af
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5) {E JIEL : Py — P is the linear transformation defined by L{az® + br 4 ¢) = (a — c)z + (b+ ¢
en #2 — & + 1 is in ker(L).

is possible to find & matrix A of size 3 x 5 such t,!ia.;inu]lit.}r{ﬁ} =1

ol J' :Erﬂhu‘.h' vty € Fl dlmfF} = n and Em{wlr“ﬁp' 7 ,'E.F“_] =_]'_"': then PlaTg s Uy @

linearly independent.

fﬁ) Let A be a3 x 3 matrix and rank({A) = 3. Mark each of the following by true or false
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£..) The nullity of A is 3.

. ..) The system Ax = 0 has ouly the zero solution.

columns of A are linearly independent.

rows of A4 are linearly independent.
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(6) Let L : B* =+ R? be the linear
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